LA
[ Yao £ e E G 0 a2 N
?

Ax0 >\ =< )() LI¥2s ST () ( )

@ z;X()J\/Z*(,g bon 5 (3)

(AneN=0 9V = (37 b 2 )

WL@%E? t a2 )

S
LA xeVs (QAY= (Xiy2ms) (Ax| A

K29y = (2 x)u/x-z(u/ V)
= U2 G900 _ s -4
Sx2wa)y) = Il
Z(Ar]Y) < (x1Y

AR

AV= D2 (V=1
Vore <l A= ol -2 (V=K
SEIEAR | 8880 01, 1A ST
D WA EAEh), 15EA



i 0] AR AV P TR S T 44k TREY
CHLIREF Af 5T R Fbiz E2E FAEF hllouse by [
A R AYER R 2PN <t PR diag (A2 M)
Do RABAE IR, K 0570
A B ding (5m,- 'k
) B fAFaFB. fs A?(FW) A
T B> POP® 1) A=B°
Firr Rt -, - 1L L ERT%RE.
KN x5l
A€Lh(C) 948, 3E9p3 0 €GLL0) 1. Aqcd
MBI, rel 9t A== é’f (e'gi/4
n<mets z,n-mhisq, th MBREREL AR
3UeUnlf) st A=U (™ )u (Wl dity)
AR () (E )U U*( »sﬁj)u
( A}E)UU U ()
QUU’Wﬁ/\r/«( )
vau'= U (" %\:( "



LU=V 5o DAY SHABRSE D XX, M faibliey
D% 5|, fs] Ansig s 32
© LU M XN HEMIDIQTE st MR
A (a‘~,0\§) YR‘J = &E&i
A= U0 Q/-uao)—l
T =070, 1A= Q"
Y. 3%- wA R Jet (E4Y7120 7 EAT
RATE > A% p= AAE) T)F
752, B AT R SR b ARE AT AN
RI K+ AL hakoftks = - Kt ko # Okt kinshitea

Wi irhiTE

_ U t(M,
>\ _57760]!(’&) 5t A:P { b‘/\rv)‘? t()« )
o X O )X
max Z mox -
X é,ﬂnlmﬁﬂ'a} xRN XEX - rxélk"lfﬂ;m
. N il"*'“ ‘l‘)"“lﬂ’
= Uit v

X
< Q"e%liﬂs Yt Y
- M

gy Cast 3 M, 2 r)y(x%{(n Ra09=An
[2 78 min Ry [X)=).



% RA(Z)ﬁﬁ/’r Mhy/e:gh?? A g1 it FletB&L
1 %A’( °’,,.) WRdmintd Apax2]  (12])
Lo EU(u £814¢, Ra®l=1 2 Amax7 |

Y)L:ﬁ lﬁfe RA ) ”’?/\mné"

(i 4 W u
sk Rag (X) = xxf& - %{ K = RawtRelw

EXmax Rupl) < max kel mM Rp(0 = Ant M
min Ry (8] 7 minRalq)+minRy(k= Aot Ay
BAA B b INEM Patilal
#20 ANE HEZ, B-A ¥

2 A-NETF-ME= (At (MMIE $EZ

= MEFEGEERNF At
72 A*M%zm mr/ln
b b det (35) = ot} J it

BMEZ e a0, DEABLZ, MbDYN pEER

et (D -5 IABHB) >, ofeb [0-FA "Bt et (BAH)

D et (0-58) £ Jetlpl- olet (FA7B) 2dathro



et M=det olet (0-BHA7D)
< dotAlet D-det(745)
= olet Adet D~ dot A dot BA°B
i DAV, BARBEE RS i

HRA JebM < det A et [ ThAR DA-Fhites pitzsp e § MG)
(Hadomard 7% 3 66 2,984 - %5

N T i1
VAEMUR 3 5€0,R), TEFZ t. A=ST
YY) AREERDIPEOR) st piap=("»,) G>0)

K= AR AR = ( o]
K= ) oo io” ,”,’,J =) 0=0(32)

Wy /rfWﬁ? l%@%q
HEAR W25, £d, - 548, 58,
B S= (5 g o, €, 2 6,) € Ol
A -5:_
o) K=o %0050= 5 (Vo) wE (s,

A= KP =STV=S¢ PIp* Re=sreqm)
T= PLP %22, ®| A=ST



% ARTEST 4 F e -
LEFRIBSYD) AR, 35, TEOREMEED st A=SDT
e 10c0.RIREEZ st. A= OR AREMELAN, 1
IPEG(R) st. pf/zf;(”am) =D (K Arnnsiri f4)
R) A=0R=0PDP* = 0)DP" ko P iz st
72 SUD THS 4 AR fryAc™, 15€0nlR, TEOR
(kmantl) A =5 (" o) T Lt
L, Schar! trigg = (e M (0)
RARBEAYL R Vet OO0 98% o, ohy
st BLABTE =] fp b, a2 A~ FEidGA o)
Ty, ok Schmidt EXAMH B2 IRE R -,
Ry @7 Z<oh s X2 AA-FR, b 1A TEf
K3 AS £ 2 st A B 37 U€ Un(O)
st MU= R (R R thafp Ao M)
ty (FA= tr( A"y U v¥)
= trlUF"A V")
~tr (Z*7)



R ) R)(RTH= ol 22 = 2, D

RENARBISIFRE!

A€ seqd)



